69 G10 CH 7 WS 4 Coordinate Geometry

Coordinate Geometry : Worksheet -4

. Triangle whose vertices are (0,0),(2,2),(0,4) is a _triangle ( )
A. right B. isosceles C. equilateral  D. scalene

. The centroid of the triangle whose sides are x=0 ; y=0 ; x+y=6is

( )
A.(0,0) B.(2,2) C.(3,3) D.(6,6)

. The ratio in which the Y-axis divides the line segment joining (5 ,7)

and (-1,3 )is ( )
A.5:-1 B.5:1 C.7:-3 D.7:3

. A point on the X-axis is : ( )
A.(2,1) B.(2,0) C.(0,4) D.(0,-3)

. The centre of a circle is the origin. If one end of diameter is (2,3) , then

the other end of the diameter is: ( )
A.(2,3) B.(-2,3) C.(2,-3) D. (-2,-3)

. The point of intersection of x=Oand y =0is ( )
A.(1,1) B.(0,1) C.(1,0) D.(0,0)

. The perimeter of the triangle formed by the points A( 0,0 ), B( 1,0 ),
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